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= N WEKGEE | gym | CO2PA | zmm | CO2NA | am | CO2HR | gmem | CO2NA | gme | CO2NRA | waem | CO2HR | zexem | CONA | zam .
AEEAR B | )RAR| HHFRE pir THE (ke) THE (ke) THE (ke) THE (ke) FEE (ke) FHE (ke) THE (ke) EBE | CO2m R (ke)
AI)> JwbL]  Co2 232 1 668.5 1551 0 36 84 337.58 783 562.22 1304 0 0 0
p [KTH YybL]  co2 2.49 1 104825 261014 0 0 0 0 0 0 0
2 E2E:] YybL]  CO2 258 1 5223 13475 0 879 2268 0 0 0 0 0
N [AEH kL] Cco2 271 1 0 0 0 0 0 0 0 0
B RAE & 87 A(LPG) ke Cco2 3.00 1 0 11.385 34 57.96 174 0 0 0 0 0
M RIERZAFANG) ke co2 2.70 1 0 0 0 0 0 0 0 0
2 [Co2if 276040 34 2526 783 1304 0 0 0
BT At VESBI (B | Uybl ]  N20 0.000064 310 0 0 0 0 0 0 0 0
Fe | _fpEs kwh | CO2 0.175 1 325740 57005 0 0 0 0 0 0 0
BS | —REBIERE kwh | CO2 0.449 1 0] 1623196 728815 1223585] 549390 0 0 14744 6620 284 128
5 BB NEIRME | km | CH4 0.00001 21 9474 2 0 1328 0 6953 1 8836 2 0 0 0
v [BEBE km CH4 0.000035 21 0 0 0 0 0 0 0 0
y NTEYE km CH4 0.000015 21 1193 0 0 0 0 0 0 0 0
J |BE km CH4 0.000011 21 0 0 0 0 0 0 0 0
- [BERRE km | CH4 0.000035 21 0 0 0 0 0 0 0 0
g | & EEE km CH4 0.000015 21 63 0 0 3042 1 0 0 0 0 0
i km CH4 | 0.0000076 21 0 0 0 0 0 0 0 0
B | ™ ERAgR km CH4 0.000013 21 0 0 0 0 0 0 0 0
B [CHait 2 0 1 1 2 0 0 0
O [y [BENERAE [ km N20 0.000029 310 9474 85 0 1328 12 6953 63 8836 79 0 0 0
E |y TEEmE km N20 0.000039 310 0 0 0 0 0 0 0 0
7| 1 [LEE km N20 0.000026 310 1193 10 0 0 0 0 0 0 0
2 | . [EEDE km | _N20 0.000022 310 0 0 0 0 0 0 0 0
- [BERaR km N20 0.000035 310 0 0 0 0 0 0 0 0
= TEEmE km | N20 0.000014 310 63 0 0 3042 13 0 0 0 0 0
w IR km N20 0.000009 310 0 0 0 0 0 0 0 0
! FRHE km N20 0.000025 310 0 0 0 0 0 0 0 0
N20%F 95 0 25 63 79 0 0 0
N20O-CH4EF 97 0 26 64 81 0 0 0
HFCH AN-I7TIVDEREH | & [HFC-134 001 1300 0 0 0 0 0 0 0 0
FIEE A CH4 0.59 21 51 632 0 0 0 0 0 0 0
A N20 0.023 310 51 364
g | EERD ton [ CH4 000095 21] 73967.66 1476 0 0 0 0 0 0 0
3 CERRRBER) ton | N20 0.0567 310] 73967.66] 1300130 0 0 0 0 0 0 0
= [BISAFYIE) ton | CO2 2770 1 7169.6] 19859792 0 0 0 0 0 0 0
= & 21161398 0 0 0 0 0 0 0
L |URE [m3  [cH4 | 0.038] 21 47282.32 37731| 74475.65 59432 0 0 0 0 0
7 kL [m3[N20 [ 0.00093] 310 47282.32 13631| 74475.65 21471 0 0 0 0 0
& 0 51362 80903 0 0 0 0 0
CcO2 20192837 728849 551916 783 1304 6620 128 0
» [N20OFt 1300589 13631 21496 63 79 0 0 0
L [CH4 2110 37731 50433 1 2 0 0 0
&1 [HFC-134a3t 0 0 0 0 0 0 0 0
&t 21495536 780211 632845 847 1385 6620 128 0
FIPERSE 3 1648 0 110 847 1385 0 0 0
EIbE%SE a8 21493888 780211 632735 0 0 6620 128 0
21482437 gt 3990
IR U\B Bt +RY Bt 84— (T1H+ BER+HRENEE) 1335858 |ﬁllﬂﬁﬁ§%b\%&ﬁ%ﬂ§§+ﬂ%< BliEixi &Y 22913582
CO2;t 20199585|CO25t 730936 99277 1752184 a5t 22917572
N203] 1300589 N20O% 13773 0 (CO2-kg)
CH4zt 2110|CHA4xt 37734 |ﬁlliﬁ%§%ﬁ\57%:‘&%< |
ER 21502284| &5t 782443 21,018,817 3053790

22917572




